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AWe pile a columnar things (for example a straw rice bags) in a triangle.
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ZEEER English version

AWe pile a columnar things (for example a straw rice bags) in a triangle.
If there is it, seven bags of rice are piled up on the top seven in a line under the first in a figure. They gradually decrease seven, six,

five....from the bottom. When the bottom is seven, the center is four. We moved the remainder of the bags of rice of under row to fit the
four to the upper row. Then we can find that the total number of these are twenty-eighth. (7X 4 =2 8)

Alternative solution 7+1=8 7 X 8=56 56+ 2=28.
The total number becomes 28.
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ZEEER English version

The base is 4,the height is 7.

Same triangle is rotated and stick on the triangle.

And when it is 8, central series become between fourth and fifth. We found the total number (4+5) X 8 X 1/2=9 X 4=36.

And when we put thirty straw bags in a triangle , we can find how many they of the lowest line.
30X 2=60 and 8 X 9=72, 7 X 8=56 there fore, 56<60<72 .

Accordingly we find the bottommost of lines are 7 ways , remainder is 4 X 1/2=2. % 82 LUMA
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MEIENTED, Ff-. ZDHELHYIID, Inthis
book of Japanese mathematics, we find area of a
triangle that it is the base and height are equal. And the
opposite materialize.
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It is very hard for present-day people to translate old
language into present Japanese.

i i . We think that present-day people play to do 51
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